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1. (a) Use the properties of logarithms to
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2. Calculate the following derivatives (you
do not have to simplify).
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3. Evaluate the following integrals. You
must show your work.
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4. Consider the function f(z) = v/In(z
(a) Find the domain and range of f ( )
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(c) Give a short explanation why you know
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5. Calculate the following limits.

a) lim zcotx = lim £ —“”‘ﬁf-zx:_’l_
( )$_+0_|_ x0T ‘c—anx,]\ ¥=20" See =
|"hapitats rnle
1 —coszx
(b) lim = lim 22— =

(C) hm }ﬂ = ‘/X \/x

2—00 24/ 7‘ x—w 20 (x ;,,D RV

|’ L\epﬁm\ﬁ rule

{ 5 Mo : ! M
: K . /
= bim o 2X 7o F oy \

S N R A ©
| ’;‘;pj,tal ‘s rule

m——————



6. Which of the following functions grows
faster or slower than z# (or do they grow at
the same speed) as x approaches infinity?
Explain.
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7. Find the solution to the differential equa-
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